HETIPIEFER2017-2018F & —F AR R 2017-09-07 11:43

B (R)/#: %£MHE i 3\ il EHREAR iR : 16REHEAR—HE[38]
EH— FH— FH= E£HIY EHH EHA/ Z£HIH
LLULTA705TUZ] I_WM‘X] /l\¥ [ZCUBUUTTUZITT HMWUNL [LZCT4763TUT] 1L FT
[(KREIZES: 2.0 BF Huh (=) [H#F]ZE ¥ RE]FS: 2.0 B |[2014763104] i+ EHLE
Bt: 39 S 2.0 BEFE: 64 Zat: 39 EEENI& T (CAD,
ESLAR [2-13[F]1 [1-2%5] R [1-16@IN-2%] |AE [1-13%FI[1-2 [3DMAX. PS) [HEE]*
| GRUWD & K1£2Y201 16[= (RUW)HENAENE  |F] R i%k#%2Y201 |57: 3.0 BEAf: 52
MER (=) 24508 [2C09001103] AZiEE |5%E [6-13[E] [1-275]
[2C09001103] KZFAB [2C09001103] K¥# KB (=) [BEE]ZES: (B HENAENE
(=) () [B&E1F (=) [REEIFS: 1.0 1.0 BZAT: 36 (1) 24412
A, 1 0 chsspd, 24 — i, N =T VA — SELl [0 42 [F] (4. 0]
[2C14763103] [=l#K0 £ 5 | [2C09001103] KF&F [2009001 1031 KEkE B
25 P AN i 24 = 24
" gﬁ*ﬁl*ﬁ 20, s [1-10] (3] (82 -6l (s-a%] (B2 2-16M) 34 |, L IFEF
g (1otam][aaty] | (LD EKRE2Y304 16 16% S LGEER 16% RLEER A i
e g ke MEAR [2C09001103] K3 E  [[2C09001103]1 KF Kk E ff‘$ [2- 16m[3f
(R % k#2204 . ] 16ERILEERR
[2C09001103] XZFAT | (=) (tc) [’%%]4 (=) [’%%J;ﬁ:
L%ciz)mé%zugfﬁ"f%]riﬁ ; B 1.0 B 36
i[ég;]gﬁﬂ()gigﬁégﬁﬁ BN (CAD, SDMAX, |FRBNIH (CAD. SDMAX. [2630001103] R kI3 | /00001 102] TF
PS) [REIZH: 3.0 & 'iffﬁ[gf]ﬁﬁ: 3.0 & PS;T[%‘;;%]AA 3.0 & ;?ﬁfﬁgffji%f %Eﬁé%m%
24t =FH]: F : 1.0 m=FR]: w [RFE]F
= %E'[mens_m iR [1-5@1[5-675] [BiER [1-5F][5-675] 7EAE [2-8[][5-6 |4 4.0 E¥nt.
(%Km)ﬁ%ﬁ.@éwr}% (%u»fr:%:ma;m% (ﬁam)ﬁﬁmmﬂzmg B (R AHH=E 6; I
@aser2 16ERER | oiontota oo | ononn 0n) ki s i LG
[ZC3000TTO3 TR TRIE S & [ZC3000TT02] B X o I
[zC06001102] I EHNA (RIEEER [REIZES: EpEHFeHSENX 7009001103 o2
HEE (2 [REI¥ 1.0 R¥E: 36 BRI [R%) |hg =) (5
T : 2.0 BEE: 64 |[HHAE (28] [7-8%] B4 4.0 RER: 64 %12, 10 8
D |ZEHE [1-16F] [7-8%5] | (Ri) 2 =E23209 HAXEE [1-14@1[7-8 [¥Hf: 36
T (RUDFHEHALEME  [[2009001103] KK E ™) Ry afgE (PEE
(=) 24508 () (&) [BE1# 21409 fEy "
.10 5SEd. 34 [70090011031 K=K E
1ZCO400T105] R=ER1a 1ZCO400T105 ] R=EFER1a
= A=A Y = AN VAN
ggém[iﬁ%]*ﬁ' 4.0 [2(5)9001103]j<§14<§ Ié%éq:[ij%]*ﬁj' 4.0 [2@9001103]jc$14<§
Bz [-16@1[9-109] | =) [RBIFS: 10 1 1om o-10%] (2) (B) [REIF
i3 = - HEERT: 36 o ﬁ: 1.0 B3Rt 36
| | RUDRRBEZIG g ) ) [9-10%) | R AdtH=2116 3B [2-168] [9-10
(2009001103 REHKE |5 |\ s pprizpeip | (20090011031 KK E *i“ 16RIEHA
+ () [RE]1%H: 1.0/ BRI (D) () [RE]# R
B EAEt. 34 A 10 ShEEd. 34




e P

R IEFT

23l $14F =
g ; EARARF S
WARZSZ E158 ; BHUEZ ST $F168
C &, Ed sy (=
3 (2D

EANE]

E2:




